CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL MATH BACKWARDS PLANNING ACTIVITIES APRIL 25, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-531-2)

Blackburn, Eric	2.00 hours	\$64.52	
Boarman, Claire	1.00 hours	32.26	
Horstman, Laura	2.00 hours	64.52	

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL MATH BACKWARDS PLANNING ACTIVITIES APRIL 6, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-531-2)

Boarman, Claire	2.00 hours	\$64.52
Gordon, Beth	1.00 hours	32.26
Goss-Rodgers, Gina	1.25 hours	40.33
Horstman, Laura	2.00 hours	64.52

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL AVID PLANNING ACTIVITIES APRIL 20, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-531-2)

1.00 hours	\$32.26
1.00 hours	32.26
1.50 hours	48.39
1.00 hours	32.26
	1.00 hours 1.00 hours 1.00 hours 1.00 hours 1.50 hours 1.00 hours 1.00 hours

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION PLAY-BASED KINDERGARTEN PLANNING JUNE 1, 2022, \$32.26 PER HOUR, .75 HOURS FOR A TOTAL OF \$24.20 EACH: (10-2210-0000-1341-564-2)

Campbell, Melissa	Stewart, Shelley
Langen, Natasha	Taylor, Leslie
Metzke, Deana	Walters, Amy
Parkinson, Vanessa	

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL AVID PLANNING ACTIVITIES APRIL 13, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-531-2)

Coleman, Justin	1.00 hours	\$32.26
Constant, Ashley	1.00 hours	32.26
Gordon, Beth	1.00 hours	32.26
Grace, Eileen	1.50 hours	48.39
Jimerson, Angela	1.00 hours	32.26
Moore, Lindsey	1.00 hours	32.26
Pyle, Yvonne	1.00 hours	32.26

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL WRITING UNITS OF STUDY ACTIVITIES APRIL 6 THROUGH APRIL 28, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-531-2)

Dockter, Emily 6.50 hours \$209.69 Dukett, Jennifer 1.00 hours 32.26

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL READING GROUP ACTIVITIES JUNE 2, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-531-2)

Chasco, Amber Leischner, Lindsey

Dockter, Emily Pitts, Jack

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION 400 SOULS BOOK STUDY JUNE 2, 2022, \$32.26 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$48.39 EACH: (10-2210-0000-1341-564-2)

Buyze, Margaret Lopian, Jerry Helton, Colin Pennington, Susan

Hodapp, Brad

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES INCIDENT ACTION PLANNING ACTIVITIES MARCH 12 THROUGH MARCH 28, 2022, \$32.26 PER HOUR: (10-2210-6220-1342-000-0)

Schoppenhorst, Debbie 11.00 hours \$354.86 Teeter, Sara 11.50 hours 370.99 X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES SOCIAL WORK OVERLOAD ACTIVITIES MAY 20 THROUGH JUNE 10, 2022, \$70.71 PER HOUR, 9 HOURS FOR A TOTAL OF \$636.39: (10-2210-6220-1342-000-0)

Teeter, Sara

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I MATH LEADER ACTIVITIES FEBRUARY 11 THROUGH JUNE 10, 2022, FOR RATE SPECIFIED: (10-2210-0000-1341-531-2)

Baldin, Jennifer	1.00 Stipend	\$133.25
Bremer, Traci	1.00 Stipend	133.25
Brittain, Robyn	1.00 Stipend	117.00
Bryant, Sydney	1.00 Stipend	104.00
Cox, Heather	1.00 Stipend	29.25
Dabbs, Kathryn	1.00 Stipend	178.75
Graham, Brianna	1.00 Stipend	322.75
Hays, Robyn	1.00 Stipend	191.75
Holler, Melinda	1.00 Stipend	29.25
Jones, Terwanna	1.00 Stipend	126.75
Kent, Jena	1.00 Stipend	58.50
Lafountain, Taunja	1.00 Stipend	318.50
Logsdon, Alicia	1.00 Stipend	273.00
Love, Brenna	1.00 Stipend	302.25
Nolting, Jenny	1.00 Stipend	178.75
Parkinson, Vanessa	1.00 Stipend	308.75
Perry, Whitney	1.00 Stipend	81.25
Stahr Trimpe, Sarah	1.00 Stipend	81.25
Strocher, Taylor	1.00 Stipend	221.00
Trummel, Morgan	1.00 Stipend	117.00

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SITE MENTOR MEETING MAY 26, 2022, \$32.26 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$48.39 EACH: (10-2210-0000-1341-564-2)

Barnard, Rachel Havener, Michael
Cookson, Lelah Helton, Rachel
Daniels, Sherry Laub, Jill
Dunbar, Lindsey Trieger, Rebecca
Grace, Eileen West, Erica

Jiace, Effecti West, Effect

Grendze, Carmen Ziemba-Montavon, Tammy

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START PORTFOLIO HOURS MAY 28 THROUGH MAY 29, 2022, \$32.26 PER HOUR, 4 HOURS FOR A TOTAL OF \$129.04 EACH: (10-2210-6433-1341-486-2)

Gray, Nicole

Ziccarelli, Andrea

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START PRE-K SCREENING JUNE 13, 2022, \$32.26 PER HOUR: (10-3000-6431-1269-481-2)

Justison, Mildred 4.00 hours \$129.04 Lamontagne, Kristin 4.50 hours 145.17

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START PORTFOLIO HOURS MAY 4 THROUGH JUNE 1, 2022, \$32.26 PER HOUR, 4 HOURS FOR A TOTAL OF \$129.04 EACH: (10-2210-6431-1341-481-2)

Becker, Brooke Justison, Mildred Burk, Jennifer Lacamera, Kathryn Duffy, Debora Loken, Susan Ferry, Audra Mahinda, Stacy Fields, Rachael Nestler, Tena Fuhrmann, Mary Purdy, Patricia Gallina, Maria Simmons, Sara Haschemeyer, Kaycee Smith, Janette

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CULTIVATING GENIUS PLANNING MAY 18 THROUGH JUNE 2, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Buyze, Margaret	1.00 hours	\$32.26
Gilmore, Lynn	2.00 hours	64.52
Hoffman, Julie	2.00 hours	64.52
Jordan, Laura	1.00 hours	32.26
Metzke, Deana	2.00 hours	64.52
Rodden, Katelynn	1.00 hours	32.26
Stewart, Pamela	2.00 hours	64.52
Stewart, Shelley	1.00 hours	32.26
Taylor, Leslie	2.00 hours	64.52
Walters, Amy	1.00 hours	32.26

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MATHENY BBSS RETREAT JUNE 13, 2022, \$32.26 PER HOUR, 5 HOURS FOR A TOTAL OF \$161.30 EACH: (10-2210-0000-1341-564-2)

Garcia, Michelle Seaver, Christine Riedel, Bridget Tennant, Mary

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL BUILDING TECH LEADER ACTIVITIES, FORTH QUARTER JANUARY 10 THROUGH APRIL 1, 2022, FOR RATE SPECIFIED: (10-2210-0000-1341-564-2)

Craner, Brian	1.00 Stipend	\$25.00
Cuzzort, Samantha	1.00 Stipend	243.75
Dickman, Barbara	1.00 Stipend	25.00
Havener, Michael	1.00 Stipend	75.00
Jachino, Rachel	1.00 Stipend	337.50
Schaefer, Bridget	1.00 Stipend	131.75

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MATH LEADER ACTIVITIES FEBRUARY 12 THROUGH JUNE 10, 2022, FOR RATE SPECIFIED: (10-2210-0000-1341-564-2)

Elkin, Victoria	1.00 Stipend	\$87.75
George, Cynthia	1.00 Stipend	208.00
Godefroid, Amie	1.00 Stipend	117.00
Hubbs, Sally	1.00 Stipend	237.25
Poss, Nichole	1.00 Stipend	322.75
Tarvin, Kandace	1.00 Stipend	266.50

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SCIENCE LEADER ACTIVITIES FEBRUARY 22 THROUGH JUNE 10, 2022, FOR RATE SPECIFIED: (10-2210-0000-1341-564-2)

Aladesuyi, Adetoro	1.00 Stipend	\$221.00
Benoit, Claire	1.00 Stipend	87.75
Etchill, Jamie	1.00 Stipend	55.25
Hanes, Decky	1.00 Stipend	146.25
Hubbard, Laura	1.00 Stipend	58.50
Mcquillan, Marilou	1.00 Stipend	16.25
Wilson, Krista	1.00 Stipend	407.50
Wiseman, Melissa	1.00 Stipend	58.50

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FEITSHANS 2ND GRADE PLANNING OCTOBER 7, 2021, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Harris, Sherry	2.00 hours	\$64.52
Kozar, Shari	2.50 hours	80.65
Lamantia, Ashley	2.50 hours	80.65
White, Jerome	2.00 hours	64.52

XXII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR MCCLERNAND EDUCATIONAL INTERPRETING TRIAL ACTIVITIES MAY 23 THROUGH JUNE 1, 2022, \$28.64 PER HOUR, 5.5 HOURS FOR A TOTAL OF \$157.52: (10-1200-6220-1164-000-0)

Sluga, Carrie

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FIRST YEAR TEACHER MENTORING HOURS AUGUST 23, 2021 THROUGH JUNE 2, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Au, Samantha	1.50 hours	\$48.39
Ayre, Amber	1.00 hours	32.26
Baragiola, Tori	9.00 hours	290.34
Barnard, Rachel	16.50 hours	532.29
Barnes, Kori	0.50 hours	16.13
Benoit, Claire	6.00 hours	193.56
Bland, Steven	0.50 hours	16.13
Blankenship, Autumn	4.00 hours	129.04
Boucher, Lucinda	0.50 hours	16.13
Boyer, Claire	0.50 hours	16.13
Bramley, Heather	6.00 hours	193.56
Buchanan, Robert	4.75 hours	153.24
Carver, John	1.00 hours	32.26
Caton, Bethany	7.25 hours	233.89
Cleaver, Joshua	3.75 hours	120.98
Clinton, Charles	2.50 hours	80.65
Coleman, Justin	9.67 hours	311.95
Cookson, Lelah	10.00 hours	322.60
Cooper, Irma	1.25 hours	40.33
Correa, Kortney	4.00 hours	129.04
Daniels, Sherry	3.00 hours	96.78
Dunbar, Lindsey	4.25 hours	137.11

First Year Teacher Mentoring Hours August 23, 2021 Through June 2, 2022, cont.

Dyer, Chelsea	3.75 hours	120.98
Escobar, Natasha	2.50 hours	80.65
Felix, Mary	1.50 hours	48.39
Fisher, Ryan	6.00 hours	193.56
Frost, Madison	0.50 hours	16.13
Gilbert, Rachel	1.75 hours	56.46
Goss-Rodgers, Gina	14.17 hours	457.12
Grace, Eileen	14.67 hours	473.25
Grendze, Carmen	13.00 hours	419.38
Hale, Marcy	7.00 hours	225.82
Hartzold, Evan	2.50 hours	80.65
Havener, Michael	8.00 hours	258.08
Helton, Rachel	6.00 hours	193.56
Higginbotham, Jalene	4.00 hours	129.04
Hummert, Julie	1.00 hours	32.26
Iaiennaro, Trisha	2.00 hours	64.52
Jachino, Rachel	10.50 hours	338.73
Jackson, Krista	4.00 hours	129.04
Jett, Tandra	6.00 hours	193.56
Johannes, Madison	6.75 hours	217.76
Johnson, Debra	8.25 hours	266.15
Johnson, Gay	13.17 hours	424.86
Koebler, Bailey	3.00 hours	96.78
Laub, Jill	10.00 hours	322.60
Lawson, Tiffany	6.75 hours	217.76
Leopold, Jessica	8.00 hours	258.08
Ligon, Tierra	12.23 hours	394.54
Lindsey, Lydia	1.00 hours	32.26
Mcnichols, Moira	9.00 hours	290.34
Menefee, Jeremy	9.42 hours	303.89
Meyer, Catherine	4.75 hours	153.24
Minton, Jacquelyn	4.75 hours	153.24
Moone, Marcus	6.00 hours	193.56
Moscardelli, Abigail	4.00 hours	129.04
Pate, Emily	4.00 hours	129.04
Patterson, Grace	5.50 hours	177.43
Patterson, Jami	3.75 hours	120.98
Powell, Donna	3.25 hours	104.85
Redpath, Sara	3.00 hours	96.78

First Year Teacher Mentoring Hours August 23, 2021 Through June 2, 2022, cont.

Roan, Heather	13.17 hours	424.86
Roher, Kortney	6.00 hours	193.56
Romang, Caroline	7.75 hours	250.02
Rudd, Lindsey	2.50 hours	80.65
Scarborough, Joel	1.00 hours	32.26
Thomas, Brandy	2.25 hours	72.59
Tiemann, Joseph	3.25 hours	104.85
Trieger, Rebecca	9.50 hours	306.47
Vogt, Denise	1.00 hours	32.26
West, Erica	8.50 hours	274.21
Wiedeman, Dale	4.00 hours	129.04
Ziemba-Montavon, Tammy	5.08 hours	163.88

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES JUNE 13, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-531-2)

Drennan, Emily	3.00 hours	\$96.78
Holler, Melinda	3.00 hours	96.78
Johnson, Kassandra	6.00 hours	193.56
Scott, Dawn	3.00 hours	96.78

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL AVID PLANNING ACTIVITIES MAY 4, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-531-2)

Coleman, Justin Grace, Eileen
Flanagan, Heather Jimerson, Angela
Freeman, Tina Moore, Lindsey
Gordon, Beth Pyle, Yvonne

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL KINDERGARTEN PLANNING ACTIVITIES JUNE 13, 2022, \$32.26 PER HOUR, 4 HOURS FOR A TOTAL OF \$129.04 EACH: (10-2210-0000-1341-531-2)

Davis, Lacy
Frisina, Jessica
Jordan, Laura

Rake-Davis, Christine Stout, Marsha XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LAKETOWN ELEMENTARY SCHOOL DATA STUDY ACTIVITIES MAY 18 THROUGH JUNE 1, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-531-2)

Barnard, Angela	3.00 hours	\$96.78
Cantrell, Kenda	3.00 hours	96.78
Clarke, Angela	3.00 hours	96.78
Hummert, Julie	3.00 hours	96.78
Madonia, Melinda	3.00 hours	96.78
Robinson, Sarah	3.00 hours	96.78
Smith, Claire	3.00 hours	96.78
Turner, Jill	3.00 hours	96.78
Vespa, Darci	4.00 hours	129.04
Vogt, Denise	3.00 hours	96.78
Wiseman, Melissa	3.00 hours	96.78

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MCCLERNAND ELEMENTARY SCHOOL FASTBRIDGE DATA ACTIVITIES MAY 3, 2022, \$32.26 PER HOUR, 3 HOURS FOR A TOTAL OF \$96.78 EACH: (10-2210-0000-1341-531-2)

Smith, Kelsie

Travis, Michelle

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL GRADE PLANNING ACTIVITIES JUNE 14, 2022, \$32.26 PER HOUR, 6 HOURS FOR A TOTAL OF \$193.56 EACH: (10-2210-0000-1341-531-2)

Dockter, Emily

Leischner, Lindsey

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BOOK STUDY ACTIVITIES JUNE 14, 2022, \$32.26 PER HOUR, 3 HOURS FOR A TOTAL OF \$96.78 EACH: (10-2210-0000-1341-531-2)

Davis, Lacy

Logsdon, Alicia

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ADDITIONAL BBSS ACTIVITIES JUNE 13, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Neely, Gail 9.00 hours \$290.34 Schoppenhorst, Debbie 1.00 hours 32.26 XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY TECH LEADER ACTIVITIES 3RD MARKING PERIOD FEBRUARY 28 THROUGH JUNE 10, 2022, FOR RATE SPECIFIED: (10-2210-0000-1341-564-2)

Campbell, Melissa	1.00 Stipend	\$306.25
Crum, Milena	1.00 Stipend	350.00
Flanagan, Kathy	1.00 Stipend	350.00
Grieme, Nathan	1.00 Stipend	87.50
Harris, Hannah	1.00 Stipend	43.75
Harris, Nicolette	1.00 Stipend	225.00
Helton, Rachel	1.00 Stipend	175.00
Hirsch, Kelsea	1.00 Stipend	325.00
Jett, Tandra	1.00 Stipend	100.00
Langellier, Dia	1.00 Stipend	56.25
Lueking, Mary	1.00 Stipend	377.00
Netznik, Melissa	1.00 Stipend	25.00
Nolting, Jenny	1.00 Stipend	237.50
Rake-Davis, Christine	1.00 Stipend	337.50
Schwab, Stephanie	1.00 Stipend	308.00
Seiz, Anne	1.00 Stipend	50.00
Smith, Claire	1.00 Stipend	318.75
Trummel, Morgan	1.00 Stipend	425.00

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION KINDERGARTEN PREVIEW NIGHT ACTIVITIES APRIL 28, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-564-2)

Allen, Lisa	Kiser-Gruen, Nicole
Barnard, Rachel	Komnick, John
Bartolomucci, Dena	Langen, Natasha
Bland, Rachel	Luca, Jolene
Blome, Leah	Madonia, Melinda
Brady Hanken, Kathleen	Martin, Elizabeth
Bramley, Heather	Mcquillan, Marilou
Bremer, Traci	Nestler, Tena
Childers, Tiffany	Nolen, Emily
Dabbs, Kathryn	Nunn, Jelinda
Davis, Holly	Patterson, Mary
Deaton, Jacqueline	Perry, Whitney
Dukett, Jennifer	Pettis, Jessica
Eichinger, Amy	Phillips, Suzanne

Dept Of Instruction Kindergarten Preview Night Activities April 28, 2022, cont.

Fernandez, Mary Price, Jessica Frisina, Jessica Riedel, Bridget Guikema, Lindsay Roark, Heather Hardy, Angela Senger, Kristin Harris, Nicolette Spencer, Horazina Stout, Marsha Harris, Sherry Helton, Rachel Stover, Melissa Hendon, Wendy Tennant, Mary Holler, Melinda Turner, Jill Isaacks, Susan Vogel, Brianne Jordan, Laura Vose, Antoinette Joyner, Abbie Zaffiri, Alise

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CO-TEACH SPRING BOOK STUDY APRIL 19 THROUGH JUNE 5, 2022, \$125.00 PER STIPEND, 1 STIPEND FOR A TOTAL OF \$125.00 EACH: (10-2210-0000-1341-564-2)

Dunn, Cara Keller Ward, Cynthia

Frech, Jane Kent, Kyle

Freer, Jordana Mckneelen, Angela Hale, Yacira Mitchell, Shanna Hasquin, Jamie Murphy, Melissa

Havenar, Meri

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION JUNE BBSS SUMMER TRAINING JUNE 14 THROUGH JUNE 15, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Beck, Melissa	5.00 hours	\$161.30
Bennett, Janene	5.00 hours	161.30
Berberet, Abigail	10.00 hours	322.60
Blankenship, Autumn	5.00 hours	161.30
Boatman, Melissa	5.00 hours	161.30
Borders, Ashley	5.00 hours	161.30
Boyd, Lisa	5.00 hours	161.30
Capps, Gail	12.00 hours	387.12
Carpenter, Patricia	5.00 hours	161.30
Cotner, Alysen	4.25 hours	137.11
Craig, Jonathon	5.00 hours	161.30

Dept Of Instruction June BBSS Summer Training June 14 Through June 15, 2022, cont.

Darr, Shawn	5.00 hours	161.30
Davis, Holly	5.00 hours	161.30
Divjak, Leann	5.00 hours	161.30
Drewes, Kimberly	5.00 hours	161.30
Dunbar, Lindsey	10.00 hours	322.60
Dunn, Cara	5.00 hours	161.30
Dwyer, Rachael	3.50 hours	112.91
Fagbiye, Tamolyn	10.00 hours	322.60
Freer, Deidre	8.00 hours	258.08
Freer, Jordana	5.00 hours	161.30
Fromm, Kelly	5.00 hours	161.30
Ganz, Rebecca	3.75 hours	120.98
Garcia, Michelle	5.00 hours	161.30
Gibbs, Katie	5.00 hours	161.30
Goss, Courtney	10.00 hours	322.60
Goss-Rodgers, Gina	5.00 hours	161.30
Groesch, Erica	5.00 hours	161.30
Harris, Nicolette	3.50 hours	112.91
House, Amber	5.00 hours	161.30
Impson, Jamie	10.00 hours	322.60
Isaacks, Susan	5.00 hours	161.30
Jannazzo, Tina	5.00 hours	161.30
Johnson, Kassandra	5.00 hours	161.30
Johnson, Marissa	5.00 hours	161.30
Jugan, Ryan	5.00 hours	161.30
Kahl, Lindsay	10.00 hours	322.60
Kent, Jena	5.00 hours	161.30
Kent, Kyle	5.00 hours	161.30
Kim, Whitney	5.00 hours	161.30
Korza, Carolyn	10.00 hours	322.60
Lamantia, Ashley	5.00 hours	161.30
Lipka, Carrie	5.00 hours	161.30
Liska, Laura	5.00 hours	161.30
Marcy, Elizabeth	5.00 hours	161.30
Mcparland, Damon	10.00 hours	322.60
Miller, Ashley	5.00 hours	161.30
Miller, Claire	5.00 hours	161.30
Milnes, Karen	5.00 hours	161.30
Moore, Carolyn	5.00 hours	161.30

Dept Of Instruction June BBSS Summer Training June 14 Through June 15, 2022, cont.

Neely, Gail	12.00 hours	387.12
Nicholas, Kelly	5.00 hours	161.30
Nolting, Jenny	5.00 hours	161.30
Noonan, Megan	5.00 hours	161.30
Norton, Heather	5.00 hours	161.30
Oglesby, Jennifer	5.00 hours	161.30
Phillips, Michelle	5.00 hours	161.30
Pochynok, Kelli	10.00 hours	322.60
Price, Jessica	5.00 hours	161.30
Pyle, Yvonne	5.00 hours	161.30
Rawls, Nicola	5.00 hours	161.30
Redpath, Sara	5.00 hours	161.30
Reynolds, Katie	3.00 hours	96.78
Riedel, Bridget	5.00 hours	161.30
Scheffers, James	10.00 hours	322.60
Seaver, Christine	5.00 hours	161.30
Sholtis, Kelly	12.00 hours	387.12
Smith, Kelsie	5.00 hours	161.30
Smith, Kimberly	5.00 hours	161.30
Stover, Melissa	5.00 hours	161.30
Tennant, Mary	4.00 hours	129.04
Tintori, Pamela	5.00 hours	161.30
Tomasko, Kimberly	5.00 hours	161.30
Vogel, Brianne	10.00 hours	322.60
Vose, Antoinette	10.00 hours	322.60
Wallner, Jennifer	10.00 hours	322.60
Westfall, Katrina	5.00 hours	161.30
Zentefis, Todd	5.00 hours	161.30

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION JUNE BBSS SUMMER TRAINING JUNE 14 THROUGH JUNE 15, 2022, FOR RATE SPECIFIED: (10-2210-0000-1341-564-2)

Gary, Jane	5.00 hours	\$24.29 per hour	\$121.45
Jones, Sharon	5.00 hours	\$17.31 per hour	86.55
Pennick, Daniel	10.00 hours	\$28.76 per hour	287.60
Rhinehouse, Antone	5.00 hours	\$24.29 per hour	121.45
Riggins, Vanessa	5.00 hours	\$24.29 per hour	121.45
Walz, Theresa	5.00 hours	\$32.28 per hour	161.40

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SUMMER CAMP KINDG MATHENY CAMP KINDERGARTEN PLANNING HOURS MAY 31 THROUGH JUNE 16, 2022, \$32.26 PER HOUR, 18.75 HOURS FOR A TOTAL OF \$604.88: (10-1110-1802-1141-000-0)

Troike, Sharon

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION WORLD CAFE PROFESSIONAL DEVELOPMENT JUNE 16, 2022, \$32.26 PER HOUR, 6 HOURS FOR A TOTAL OF \$193.56: (10-2210-0000-1341-564-2)

Woodside, Alexis

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION SCHOOL IMPROVEMENT PLAN COLLABORATION JUNE 16, 2022, \$24.29 PER HOUR, 5 HOURS FOR A TOTAL OF \$121.45: (10-2210-0000-1341-564-2)

Rice, Nakesha

XL RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SCHOOL IMPROVEMENT PLAN COLLABORATION JUNE 16, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Burris, Tiffany	5.00 hours	\$161.30
Crumrine, Carrie	5.00 hours	161.30
Dockter, Emily	5.00 hours	161.30
Dukett, Jennifer	5.00 hours	161.30
Eaton, Deborah	5.00 hours	161.30
Green, Allison	5.00 hours	161.30
Hays, Robyn	5.00 hours	161.30
Johnson, Deanna	5.00 hours	161.30
Mattsson, Teresa	5.00 hours	161.30
Mclaughlin, Stacey	5.00 hours	161.30
Mead, Nena	5.00 hours	161.30
Sheets, Glen	5.00 hours	161.30
Smith, Kimberly	5.00 hours	161.30
Taylor, Leslie	3.00 hours	96.78

Dept Of Instruction School Improvement Plan Collaboration June 16, 2022, cont.

Trummel, Morgan	5.00 hours	161.30
Walker, Amy	5.00 hours	161.30
Warren, Lillian	5.00 hours	161.30

XLI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION WORLD CAFE PROFESSIONAL DEVELOPMENT JUNE 16, 2022, \$32.26 PER HOUR, 6 HOURS FOR A TOTAL OF \$193.56 EACH: (10-2210-0000-1341-564-2)

Benoit, Claire Johnson, Claudia
Blakley, Kaylee Joyner, Abbie
Brillhart, Sarah Jurgens, Mary
Buxton, Amanda Kahl, Lindsay
Campbell, Melissa Kent, Jena
Capranica, Amy Lauer, Karianna
Carpenter, Patricia Lott, Serita

Carpenter, Patricia
Conaway, Wendy
Mckinney, Benjamin
Midiri, Stefanie
Freeman, Cynthia
Mikson, Patricia
Molen, Emily
Moonan, Megan
Grieme, Nathan
Parkinson, Vanessa
Harris, Nicolette
Poppenhouse, Leslie

Holler, Melinda Stoll, Nicole

Hustedt, Isaac